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R BESHAREM=)RMBERAREM+QBEI=/\— )L —E BB EM+Q)HE H A B E

+@OBRERHEHIBEE = FiA -6.26|M/kWh
(1) A% B SR B B (i = (P19 A% liA8 — 86,100/ ) x EL#EH 1,000 = -7.50]F1/kWh
202554 H ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR im il 68,774 M a 0.0048 HAEE(H 0.183 {
B: 1t&H71=Y D FEHLNGIHE#%E 86,945 M 0.3827
C: 1tHI=YDEHR RME 17,505 M Y 0.6584
T REMER = Axa +BXB8 +CXxy = 45100 H (100K FMIERAN)
(2) BB A= /N—H LY —E XA EM= (B & TR EHEE —0M) x BE#Ei{fi—1,000 = 0.00]F/kWh
2025548 ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR Ml 68,774 M a 0.0000 B 0.000 M
B: 1t&H71=Y D FEHLNGIE#%E 86,945 M 0.0000
C: 1tHhi=YDEHR R 17,505 M ¥ 0.0000
BETMREMER=AXa +BxB8 +Cxyr=0H (100K FMIERAN)
Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh
A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 1.24]M/kWh
A: BTADIVTTSARAEHE-(1-48KE) < ARE 15.61 BADIYTTSAAEHIE 13.21
B: ZJCIfEEEAEBIE (Fiik) 7.00 |RER 6.9%
C: BANEREEEZE B ff (Fiik) 14.00 RER 110%
D: MEIE 70%
4) FENHEEIBE 0.00]F/kWh
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KT, B XIBICRAHIESIE (BEEDEFSEIIHIA24M/kWh) Z AN B ERBEM M5
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BXEHGRaAVYILTAY

R BESHAREM=)RMBERAREM+QBEI=/\— )L —E BB EM+Q)HE H A B E

+@OBRERHEHIBEE = FiA 2.68 |F:l/kWh
(1) PA%I B SR B B {ff = (P19 A% liA% — 45,900 ) x EL#EH{H 1,000 = 1.19|H/kWh
202554 H ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR im il 68,774 M a 0.0275 HAEE(H 0.233 H
B: 1t&H71=Y D FEHLNGIHE#%E 86,945 M 0.4792
C: 1tHI=YDEHR RME 17,505 M Y 0.4275
FEHREMER = Axa +BXB8 +CXxy = 51,000 (100MKXFHEBEREAN)
(2) BB A= /N—H LY —E XA EM= (B & TR EHEE —0M) x BE#Ei{fi—1,000 = 0.00]F/kWh
2025548 ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR Ml 68,774 M a 0.0000 B 0.000 M
B: 1t&H71=Y D FEHLNGIE#%E 86,945 M 0.0000
C: 1tHhi=YDEHR R 17,505 M ¥ 0.0000
BETMREMER=AXa +BxB8 +Cxyr=0H (100K FMIERAN)
Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh
A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 1.49)F/kWh
A: BTADIVTTSARAEHE-(1-48KE) < ARE 14.93 BADIYTTSAAEHIE 12.61
B: EICEREEAEER (Fitk) 5.00 |RER 7.1%
C: BANEREEEZE B ff (Fiik) 13.00 RER 110%
D: MEIE 70%
4) FENHEEIBE 0.00]F/kWh
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TRILEAOSBEREBY . EHEALALETET,
BHOBRHSCEFNIMHBSHEREE, TROBYSMSELET,

KA, B XERICLBIESIE (EEDHFIFIIFHIA2.4M/kWh) A8 & FRE B, S
[E5IET 2D TIEILL HEBICTESIZZTHETWEEET,

anj
cu

M BEERBEE=)RNEAREE+QBE L=/ —Y /LY —ERRBEM+QHNE HRBEM

+AOBFERHEREE= BN 15kWhET FiiA 48.63 M
Eest Bisa 3.24 M/kWh
(1) WR¥ B R B B il = (SE R BHEIHE —27,100M) x 2B {fi-1,000 = BHD15kWhET 41.58|M
202544 B ~202546 B F 0 B S aHEE £ 2.77|H/kWh
A: 1kiBp =Y OF R im 68,774 M a: 0.0140
B: 1t =Y DFHLNGIEE 86,945 M B: 0.3483 ~ 15kWhE £ B {ffy 2475 M
C: 1th=YD TR HimE 17,505 [ 7 0.7227 16kWh~ £ 4 B iff 0.165 M

TR EMER = AXa +BXB +CXy = 43900 M (100 RFEM@BAAN)

(2) B —/\—H LY —E RFEE = (3 ST HREHEE —0M) x EHEBH 1,000 = 0.00|F4/kWh

202554 H ~2025%6 A FH D B 5 sHmE
A: 1kIHT=Y O FE R hMEE 68,774 M o: 0.0000 HAEHR 0.000 M
B: 1tdHh1=UDEHLNGHE 86,945 M B: 0.0000
C: 1tH=YDEHRXME 17,505 H 7 0.0000

EHETHBE@fKR=AXxao +BxB8 +Cxryr=0H (100MRFEMEER A)

Q) HEHFEEM=A<BDIGFE. HENFAEEM=(A—B)XxDx(1+HEHRE) = 0.00|F4/kWh

A>COIBE . HEHARBEM=(A—C)XxDx(1+HERHRE) = 0.47|M/kWh

A: BITADIVTISAREHE-(1-BLE) < HRE 13.61 BADIUTISAREHE 11.41
B: EJCIAEEEAEEM (Fitk) 5.00 JRE 7.8%
C: EBmmEAEEALERM (k) 13.00 RER 110%
D: BEZE 70%

@) REflEeBa1BEE 0.00|M/kWh
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